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QUESTION 1

You have a 2-node FAS9000 cluster that must replicate to a 2-node AFF A300 cluster. Both clusters use self-encrypting
drives (SEDs) and need to encrypt all data at rest using centralized key management. 

Which two features accomplish this task? (Choose two.) 

A. Onboard Key Management 

B. External Key Management 

C. NetApp Volume Encryption (NVE) 

D. NetApp Storage Encryption (NSE) 

Correct Answer: BC 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-
nve%2FGUID5DD87E19-F311-4B2C-898C-285032E0B116.html 

 

QUESTION 2

Using SnapCenter 4.0, you are restoring a virtual machine. Which additional tool would be used to monitor the restore? 

A. VMware vSphere Web client 

B. Virtual Storage Console 

C. OnCommand System Manager 

D. OnCommand Unified Manager 

Correct Answer: A 

 

QUESTION 3

A client has a primary data center that is located in a coastal area where the forecast is calling for a Category 5
hurricane to make landfall in three days. The client\\'s data is protected using NetApp SVM SnapMirror replication
technology with identity-preserve that is enabled. The data is mirrored to a destination cluster outside of the affected
area. The client has scheduled a controlled maintenance window for tomorrow to ensure that dependable operations are
maintained. 

Which three steps must be taken to accomplish this task? (Choose three.) 

A. You must break the SnapMirror relationship on each individual volume between the source and the destination
clusters. 

B. You must configure the destination SVM volumes for data access. 

C. You must reboot each server in your infrastructure so that they can access the data from the destination volumes. 
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D. You must break the SnapMirror relationship between the source and the destination SVMs. 

E. You must stop the source SVM before activating the destination SVM. 

Correct Answer: BDE 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-
dap%2FGUIDC4F0D584-6C27-4EBA-8DF0-5F795BAD226A.html 

 

QUESTION 4

You have experienced a disaster at your source site and activated SVM DR. The source site is now up, but your source
SVMs no longer exist. You must restore data to the original source and maintain the SVM DR configuration. 

Which two steps must be taken to accomplish this task? (Choose two.) 

A. Delete the cluster peer relationship. 

B. Replicate the data from the disaster-recovery site to the new source with volume SnapMirror. 

C. Create the new source SVM by creating an SVM disaster-recovery relationship from the original destination. 

D. Delete the existing SVM peer relationship. 

Correct Answer: BD 

 

QUESTION 5

Click the Exhibit button. 

You have a volume that was configured a year ago using the default Snapshot policy that is shown in the exhibit. You
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need to increase the number of hourly maximum Snapshot copies to retain only four copies. 

Which additional action is needed to keep only four hourly Snapshot copies in this volume after modifying the
schedule? 

A. Delete two hourly Snapshot copies 

B. Reapply the default policy to the volume 

C. Modify the volume guarantee 

D. Modify the Snapshot reserve. 

Correct Answer: A 

 

QUESTION 6

You asked a colleague to create a new SnapMirror replication relationship of type "Vault" between two SVMs on
separate clusters. You want to verify that the SVMs are healthy and updating on a particular schedule. 

What are two ways to accomplish this task? (Choose two.) 

A. Use OnCommand System Manager on the source cluster for verification. 

B. Use OnCommand System Manager on the destination cluster for verification. 

C. Use the ONTAP CLI on the destination cluster and issue the snapmirror show -fields healthy, schedule command. 

D. Use the ONTAP CLI on the source cluster and issue the snapmirror show -fields healthy, schedule command. 

Correct Answer: AD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2496254 (21) 

 

QUESTION 7

What are three prerequisites for replicating an Element OS volume to ONTAP? (Choose three.) 

A. SnapMirror must be licensed on the SolidFire cluster. 

B. The ONTAP cluster must be running ONTAP 9.3 or later. 

C. SnapVault must be licensed on the ONTAP cluster. 

D. Enable SnapMirror on the SolidFire cluster. 

E. SnapMirror must be licensed on the ONTAP cluster. 

Correct Answer: ADE 

Reference: https://www.netapp.com/us/media/tr-4651.pdf 
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QUESTION 8

Synchronous replication is available for which two NetApp solutions? (Choose two.) 

A. StorageGRID Webscale 

B. ONTAP Select 

C. MetroCluster 

D. Cloud Backup 

Correct Answer: BC 

Reference: https://www.netapp.com/us/media/ds-3769.pdf 

 

QUESTION 9

A customer wants to monitor the current utilization of storage capacity to ensure storage availability. They decide to
implement quotas on some volumes. 

What are three types of quotas that would satisfy the customer\\'s requirement? (Choose three.) 

A. user 

B. aggregate 

C. group 

D. volume 

E. qtree 

Correct Answer: ACE 

Reference: https://library.netapp.com/ecmdocs/ECMP1196906/html/GUID-07CDD7F3-5958-478F-
AE5862AE4B8699D7.html 

 

QUESTION 10

Which two policies would allow an administrator to configure disaster recovery and archiving in the same destination
volume? (Choose two.) 

A. MirrorAllSnapshots 

B. MirrorAndVault 

C. Unified7year 

D. MirrorLatest 

Correct Answer: BC 
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Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2811525 
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